3. BIEEEICRFTULIYAMMTHA
(ZIRAIMTHEIEIN (EEIR) 4 FELiENN - B R IR OHRS)

X5 A I FEER N (i) i 5t
ZIIA —IYA —INATENN (FHI) —IAEm (FE)

FE D= EAKA 2 2= {214 EN i 2= &4 EN

H7 258 30 0 0 57.4 47.9
HS 476 168 90 0 76.8 14.1
HO9 138 40 100 0 46.0 2.9
H10 174 34 0 0 44.0 10.0
H11 = = = = 11.3 -
H12 = = = = 75 =
H13 368 24 = = 14.6 =
H14 138 27 = = 20.4 =
H15 = = = = 16.0 =
H16 653 29 200 = 13.0 =
H17 592 62 - - - -
H18 530 - - - - -
H19 229 65 = = 30.0 =
H20 207 34 10 = 31.9 =
H21 125 28 10 = 20.0 =
H22 106 22 20 = = =
H23 841 45 50 = = -
H24 587 59 20 = = =
H25 647 195 20 = = -
H26 514 228 = = = -
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